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QUESTION 1

SAN team hopes customers will easily be able to map each LUN to a specific WWPN for each client logical partition on
the Power8 server.

Which technology should be implemented to meet the requirements ?
A. SAS

B. NPIV

C.iscsl

D. vSCSiI

Correct Answer: B

QUESTION 2

Which of the following statements correctly describes a difference between the S814 and S824?
A. The S814 is a tower server and the S824 can be either a tower or rack mounted server

B. The S814 has one socket and the S824 has up to two sockets

C. The S814 can have one or two sockets and the S824 has four sockets.

D. The S814 uses 1U of rack space and the S824 uses 2U of rack space.

Correct Answer: B

QUESTION 3

Which of the following is a stand-alone offering in the Power SC family, that provides a consolidated view of the virtual
data center VM network isolation landscape?

A. Real-time Compliance Management
B. Trusted Surveyor

C. Trusted Firewall

D. Trusted Network Connect

Correct Answer: C

QUESTION 4

Customers want to have a mix of the S824 SSD and HDD, using the extended functions ( 18 disks ) backplane (EJOP),
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and do not want to use the Easy Tier feature.

How to achieve ?

A. Use RAID 5T2 configure all drives.

B. on SSD and HDD ARRAY different configurations.

C. The SSD installed in EJTM 8-Bay 1.8 SSD cage.

D. Use backplane isolation, and put on the back side of the SSD , HDD on the other side.

Correct Answer: B

QUESTION 5
A customer is considering a fully-virtualized infrastructure to be built on Power Systems.

Which capability would allow storage virtualization, and reduce the effort of adding storage to client partitions for the
Power system administrator?

A. vSCSI
B. NPIV
C. SSP

D. SR-IOV

Correct Answer: B
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